R F1 A1 88 LAl ARel &5y el

89.03. 31 4 i § L &
98.10. 16 j}gpw 6
100.06. 10 % 5 ¢ % 2 o i i

B
8

h—l ;gq
=

103.01. 03 i 7% € 3% 12 &
103.10. 03 % 7% € 3% 12 & i

SRR AT
L3 (50%): 421428 1 i EAF LR AR EFALE D T2 EY 2T S

£ o
Fh (B0%):d ARt AR ARRYILFEFEAFALTN cARILR g2 4}
KefF o B b A .
= AR
1.11',3;5(:
x:‘_ EFTEA AL 36EL PN Z O6BH §A\’IE”‘:"P%éﬁcﬁi%‘“o%ﬁ;}ﬁ%%%i
Pl WE R 12 R B PR A o AT R 2 S RE B L]
ﬂ SHETORSE > BELEE L EF LY L1284 5 A kil i 3F
HEALA(F AR LI Y BTG FRAL BB LAL LR
FILEE A do Ll 9B A e - OZ E R4 r H2 ARMEIIHE S 2hp L ¥
iﬁ_ﬁ%‘«gfrg‘lf@'}iﬂ\“"E‘f%ﬂ%%‘i&f'},ﬁiﬂ LI ES 2 AE ARREITE
EELP R L ERBHP T IEFMEC)C)FEEME R 4 F 1%&&?
(— JE)REF CREFRY 1 BMHEE WA R R Y &4 F
WAE PR F) 2B IR B %R T IR S
R L)
2.LFTE R ¢
AREIIE A L TG, e Y P A LA R BB P L

BrAEELRS > T - BRI AR REEET R o

It

z
=L
B hPEE LTRGBS BT e o



